154

2 % ﬂ’ai%ilzi,% A4 Ba)l
(EER) | B2 A
— R B
Xz |K{RCC)| KECC) | BEUKER | R =Xz R
48| HREE 26.6 16.3 == B xR mR
6Al =Y 20.6 18.9 == BE Hixf-th mR
8A| mKEh 32.2 28.2 == BE xEf-$ me
10A| M5 25.4 18.5 == BE xEB-h mR
128 5 12.1 10.9 == BE kEfR-$ me
28| Bh 8.8 5.7 == BE R BR
4FRIFIER _
oH DO BOD SS KEEHK
(mg/1) (mg/I) (mg/1) | (MPN/100ml)
E&(E]| 65~85] 75LLF | 20LLF | 25LLF | 1000LLF
EHE(75%1E) - 10 0.7(0.8) 2 750
48] 78 11 0.7 4 -
64 75 9.4 1.2 4 700
8Al 17 8.4 0.8 i< -
10A| 74 9.4 <0.5 6 790
12A] 7.1 11 0.5 1 -
2A] 76 12 <0.5 4 -
BEIER
NP INESD E ANEivoL| #ME HiKEB  [ZxILkiE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
] 0.01LLF | ERE | 001LLF | 0.058LF | 0.01LLTF | 0.0005LLF
E{E]  <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
48] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
68| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
8H - - - - - - -
10A]| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
128 <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
2R - - - - - - -
ooant ... | 1,2-000](1.1-S50a|>&X-1,2->50]1,1,1-rJ)Z0
PCB 5 mig LR nray | T NTFL nT4
(mg/l) | (mg/I) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
s ERE [0.02LLF] 0.002LLTF | 0.004LLF | 0.02LLF | 0.04LLF 1LLF
EH{E - <0.002 <0.0002 <0.0004 [ <0.002 <0.004 <0.1
4K - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.1
68 - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.1
8H - - - - - - -
10A - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.1
128 - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.1
2R - - - - - - -
1,1,2-+y4 [RUYBaA|Fr5400x|1,3->50A — . —sen FARAH
aoxsy | TFLY | FLr  |oFaky FOIL| YRDY )%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#(E]0.006 L F[0.03LLF | 0.01LLF | 0.002LLF |0.006 L F| 0.003LLF 0.02LLF
E{E] <0.0006 | <0.003 <0.001 <0.0002 [ <0.0006 <0.0003 <0.002
4 HJ <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
68l <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
8H - - - - - - -
10A]| <0.0006 [ <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
12A8]| <0.0006 [ <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
2R - - - - - - -




HEBNEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E]| 001LTF [001LLF [ 10LF 0.8LL'F 1T
I <0.001 <0.001 0.18 <0.1 <0.1
4H] <0.001 <0.001 0.08 <0.1 <0.1
6H]| <0.001 <0.001 0.22 <0.1 <0.1
8H - - - - -
10H] <0.001 <0.001 0.23 <0.1 <0.1
12H] <0.001 <0.001 0.18 <0.1 <0.1
2H - - - - -
ZTDhIFE
N e 2EX | &% @ | 28 | soorus | LTV
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EH{E - 0.25 0.009 - - - -
4 A - 0.26 0.005 - - - -
6H = 0.25 0.004 - - - -
8H - - - - - - -
10AH = 0.29 0.022 - - - -
12H - 0.18 0.006 - - - -
2H - - - - - - -
Eie EIEERTE | VBT : = = =i >
IT/=| kS coD el > AE BREER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (4 S/cm)
EH{E - - 0.7 <0.01 - - -
4 A - - 0.8 <0.01 - - -
6H - = 1.1 <0.01 - - -
8H = = 0.7 - - - -
104 = = 0.7 <0.01 - - -
12H - = 0.6 <0.01 - - -
2H8 - - 0.5 - - - -




RIS

¢ 3 =
2, FEE | Mm% BEl
(HyR) | J® A
— g8 B
Xz |[SUBRCC) | KiE(°C) | EEUKE [ ER =Xz R
48| HREE 25.6 14.7 == B xB-mh mR
6A] =Y 21.2 18.1 =IE BE Hixf-t mR
8A| Eh 35.9 27.5 == B kEf-$ me
10A| M5 24.6 19.1 == BE R - me
128 5 13.1 11.1 == BE EEf-f |me
28| Bh 9.3 6.2 == BE e BR
4FRIFIER _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
E&(E]| 65~85] 75LLF | 20LLF | 25LLF | 1000LLF
EHE (75%1E) - 10 0.6(0.7) 2 =
48] 79 11 0.5 1 -
64 7.6 9.5 0.9 1 —
8A 7.7 8.1 0.7 <1 —
10A] 75 9.2 0.5 5 -
12A] 72 11 0.6 1 -
28 7.7 12 0.5 <1 —
RBEEIER
N INESS R AEIOL| WFE BiKE  |[7LFILKEE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
Bl 001LLTF [ FEHH | 001LLF | 0.058LF [ 0.01LLF [ 0.0005LLF ERH
Ti5{E - - - - = - -
4R - - - - - - -
6 A - - - - - - -
8A - - - - - - -
10R - - - - - - -
128 - - - - - - -
28 - = = = = - -
SZTeI=E] wee | 12-2908[1,1-C90n|Y2-12-990(1,1,1-k) 90
PCB gy | PRERR | nrgy | 'zFiy | mzFoy AT4Y
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
s ERE [0.02LLF] 0.002LLTF | 0.004LLF | 0.02LLF | 0.04LLF 1LLF
{8 - - - - = - -
4R - - - - - - -
6 A - - - - - - -
8AH - - - - - - -
10R - - - - - - -
128 - - - - - - -
28 - - - - - - -
1.1.2-hy4 (RSO0 ([FR5500x(1,3-990 = [N FAALH
aozsy | IFLY | FLy  |@Fasy| TUIL | YRV NI
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
F#{E0.006LLF[0.03LLF | 001LLF [0.002LLF [0.006LLF| 0.003LLF 0.02LLF
I 15{E - - - - = = =
4R - - - - - - -
6 A - - - - - - -
8A - - - - - - -
10R - - - - - - -
128 - - - - - - -
28 - - - - - - -




Ryt | vy |HEEZRRT son | B5%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEME] 001LLF [001LLF| 10UF 0.8LLF 1LLF
—wm@ - [ - - - -
4H - - - - -
6H - - - - -
8H - - - - -
10H - - - - -
12H - - - - -
2R - - - - -
EDHIEE
N—~4 \ RILLTIL
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE - 0.22 0.008 - - - -
4R - 0.17 0.006 - - - -
64 - 0.23 0.003 - - - -
8H - - - - - - -
10H - 0.28 0.015 - - - -
12H - 0.19 0.007 - - - -
2R - - - - - -
BiLH HHHMRY | VU ; = i S
IT/=| xS cobD el > AR BEREER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (4 S/cm)
F{E - - 0.8 = = = =
4A[ - - 1.2 - - - -
6A| - - i1 - - - -
sAl - - 07 - - - -
10A] - - 06 - - - -
12A] - - 06 - - - -
28 - - <05 - - - -




RIS

EEE | A4 SES
iR
(BER) | #® A
—RI8 B
XE [&BCe)| KE(CC) | HMEUKE | kiR =i BR
48| 5 24.1 15.3 ES BE k- % mR
6A|l =Y 22.8 18.2 =B BE Hixf-h mE
s8Al BBh 35.3 28.4 == BE xER-% me
10A| M5 25.0 19.4 == BE i -th me
128 5 13.7 11.4 =RIE BE xER-% me
28] ®Bh 10.5 7.4 =B AYZL | BEH-% e
HERIEEE _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
E&(E]| 65~85] 75LLF | 20LLF | 25LLF | 1000LLF
EHIE (75%1E) - 10 0.7(0.7) 1 720
48] 82 11 0.6 <1 -
6A| 78 95 1.1 1 49
8A 7.8 7.9 0.7 1 —
10A] 76 9.1 0.5 3 1400
128 73 11 0.6 <1 -
28 7.7 12 0.5 <1 —
BEIER
N INESS P E AEYOL] WE ks |7xukeg
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
] 0.01LLF | JE4H | 0.01LLF | 0.05LLF [ 0.01LLF | 0.0005LLF JERH
EfE]  <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
48] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
6A| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
8H - - - - - - -
10A] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
12A8] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
28 - - - - - - -
SoA0A s | 1,208 (11-0500|Y2-1,2-S50(1,1,1-k)50
PCB gy, | PRERR | nrgy | 'zFiy | mzFoy AT4Y
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
s ERE [0.02LLF] 0.002LLF | 0.004LLF | 0.02LLTF | 0.04LLF 1LTF
LHiE - <0.002 <0.0002 <0.0004 [ <0.002 <0.004 <0.1
48 - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.1
6 A - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.1
8H - - - - - - -
104 - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.1
128 - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.1
28 - - - - - - -
1,1.2-kyY4 [FYARD[FFS400I]1,3-9A = s oyt FARUA
aoxsy | TFLY | FLr  |aFaky FOIL| YRDY )%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#(E]0.006 L F[0.03LLF | 0.01LLF | 0.002LLF |0.006 L F| 0.003LLF 0.02LLF
E{E] <0.0006 | <0.003 <0.001 <0.0002 [ <0.0006 <0.0003 <0.002
48] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
68| <0.0006 [ <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
8AH - - - - - - -
10A8]| <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
12 8] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
28 - - - - - - -




HEBEEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEAE{E] 001LLTF 10.01LLF 10LLF 0.8LLF 1LLF
EH{E]  <0.001 <0.001 0.20 <0.1 <0.1
4H| <0.001 <0.001 0.10 <0.1 <0.1
6H| <0.001 <0.001 0.22 <0.1 <0.1
8H - - - - -
10H] <0.001 <0.001 0.26 <0.1 <0.1
12H] <0.001 <0.001 0.20 <0.1 <0.1
2H - - - - -
EDHIEE
N SR | 28 @ | 2E® | sankus | LTV
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EH{E - 0.23 0.009 <0.04 - - -
4A - 0.19 0.007 <0.04 - - -
64 - 0.23 0.005 <0.04 - - -
8H - - - - - - -
10H - 0.27 0.015 <0.04 - - -
12H - 0.23 0.007 <0.04 - - -
2H - - - - - - -
BiLH AR | B : o i (= S
IT/=| xS cobD el > AR BEREER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
EH{E - - 0.8 <0.01 - - -
4R - - 1.0 <0.01 - - -
64 - - 1.0 <0.01 - - -
8H - - 0.7 - - - -
10H - - 0.6 <0.01 - - -
124 - - 0.8 <0.01 - - -
28 - — 0.6 — — — —




RIS

FO4 | A =3
2 % FFO04% e Balll
(@B ) | B|E A
—i%IE B
X |[SfECc)| KECCc) | HEBUKE| FiR 18 BS
48| M5 23.4 15.4 == BE xR mR
6A] =Y 23.7 18.6 == BE Hixf-o mR
8Bl EBh 35.8 29.5 == BE meE |
10A| M5 23.0 20.1 == BE G -h me
128 5 13.7 11.6 == BE Hixf-% mR
28| =Y 52 74 RE_ | BUBL | X% me
$RREIER —
oH DO BOD SS KEEHK
(mg/1) (mg/) (mg/1) _| (MPN/100ml)
E&(E]| 65~85] 75LLF | 20LLF | 25LLF | 1000LLF
EHE(75%1E) - 10 0.7(0.8) 1 -
48] 82 11 0.7 s -
64 7.9 9.7 0.8 1 —
8A| so0 8.4 0.8 1 -
108 77 9.3 05 3 -
128 72 11 <0.5 1 -
2A] s 12 0.6 1 -
BFEER
NI INESDS A ANEvaL| WME fKER 7L ILKEE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEAE(E] 0.01LLF | JE#HE | 001LLF [ 0.05LLF [0.01LLF | 0.0005LLF e
E{E - - - - - - -
7y - - - - - -
6Al - - - - - - -
8Al - - - - - - -
108 - - - - - - -
128 - - - - - - -
2A| - - - - - - -
Toonox wee | 12-2908[1,1-C90n|Y2-12-990(1,1,1-k) 90
PCB gy | PRERR | nrgy | 'zriy | mzFoy AT4Y
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#EE] ERE [0.028LF ] 0.002LLF [0.004LLF [ 0.02LLF [ 0.04LLF 1LF
E{E - - - - - - -
7y;] - - - - - -
6Al - - - - - - -
8Al - - - - - - -
108 - - - - - - -
128 - - - - - - -
2A] - - - - - - -
1,1,2-+y4 (RUYBaA|Fr5400x|1,3->50A = Smpate FARA
noTsy (TFLY | FLr  |aFaxky FIOIL b LI
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#{E]0.006LLF|0.03LLF| 0.01LLF [0.002LLF [0.006LLF|[ 0.003LLF | 0.02LLF
I {E - - - - - - -
7y;] - - - - - -
6Al - - - - - - -
gAl - - - - - - -
108 - - - - - - -
128 - - - - - - -
2R - - - - - - -




HEBEEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEME] 001LLF [001LLF| 10UF 0.8LLF 1LLF
—wm@ - [ - - - =
47 - - - - -
64 - - - - -
8H - - - - -
10H - - - - -
12H - - - - -
2H - - - - -
EDHIEE
N—A~FH RILLT IV
g EER e 2 2HEfH | y00FRLL | TS
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE - 0.23 0.009 - - - -
4A - 0.20 0.007 - - - -
64 - 0.25 0.007 - - - -
8H - - - - - - -
10H - 0.26 0.015 - - - -
12H - 0.21 0.007 - - - -
2H - - - - - -
BiLH WA | R ; = i S
I/ LAY coD el > EE BREEXR
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
THEl - = 0.8 = 0.01 = -
4R - - 1.0 - - -
64 - - 1.2 - <0.01 - -
8A - - 0.9 - - - -
10H - - 0.5 - 0.01 - -
12H - - 0.8 - <0.01 - -
28 - - <0.5 - - - —




